

تلف ۱۵۰/۱۰۰

۲. آفرین

۱۰/۱۰

۱۰/۱۰ - ۱۰/۱۰

$$T_s \frac{e}{1-r} \rightarrow \frac{e}{r}$$

$$\frac{e}{r} \cdot 1 = \frac{e}{r} \checkmark$$

۱

$$x - \sin x - \frac{1}{r} \cos x = 0 \rightarrow x = \frac{1}{r} \rightarrow \frac{1}{r} - \frac{1}{r} \sin x - \frac{1}{r} (\cos x) = 0$$

$$\frac{1}{r} \sin x - \frac{1}{r} \sin x + \frac{1}{r} = 0 \rightarrow \sin x - r \cos x = 0 \rightarrow \sin x = r \cos x \rightarrow \frac{\sin x}{\cos x} = r \rightarrow \tan x = r$$

$$\frac{1}{r} \rightarrow \frac{1}{\cos x} = 1 + \tan^2 x \rightarrow \frac{1}{r} = \frac{1}{\cos^2 x} \rightarrow \cos^2 x = r$$

$$\cos^2 x = r \rightarrow \cos x = \sqrt{r} \rightarrow \sin x = \sqrt{1-r}$$

$$\sin^2 x + \cos^2 x = 1 \rightarrow 1 - r + r = 1 \rightarrow \sin^2 x = 1 - r \rightarrow \sin x = \sqrt{1-r}$$

$$\sin^2 x + \cos^2 x = \frac{1}{r} \rightarrow (1 - \cos^2 x) + \cos^2 x = \frac{1}{r} \rightarrow 1 - \cos^2 x + \cos^2 x = \frac{1}{r}$$

$$\frac{1 - \cos^2 x}{\sin^2 x} + \cos^2 x = \frac{1}{r} \rightarrow \sin^2 x + \cos^2 x = \frac{1}{r}$$

$$\frac{\sin^2 x}{\cos^2 x} = \frac{1}{r} \rightarrow \frac{\sin^2 x}{\cos^2 x} = \frac{1}{r} \rightarrow \tan^2 x = \frac{1}{r} \rightarrow \tan x = \frac{1}{\sqrt{r}}$$

$$\frac{\sin (r \cos x)}{r - r \cos x} < 0 \rightarrow \frac{\sin x (r \cos x)}{r \cos^2 x} < 0 \rightarrow \sin x < 0$$

$$(r(1 - \cos^2 x))$$

$$r \cos^2 x$$

۱۰/۱۰

۱

$$\frac{r}{\sin \alpha} + \frac{r}{\cos \alpha} = \frac{r \cos \alpha + r \sin \alpha}{\sin \alpha \cos \alpha} \rightarrow r \cos \alpha + r \sin \alpha = \cos \alpha = \frac{r \sin \alpha}{r}$$

$$\tan \alpha + \cot \alpha = \frac{\sin \alpha}{\cos \alpha} + \frac{\cos \alpha}{\sin \alpha} = \frac{\sin^2 \alpha + \cos^2 \alpha}{\sin \alpha \cos \alpha} = \frac{1}{\sin \alpha \cos \alpha} = \frac{1}{\frac{r}{2} \sin 2\alpha} = \frac{2}{r \sin 2\alpha}$$

$$\frac{1 + \sin \omega}{\sin \omega} \rightarrow \frac{1 + \sin \omega}{\sin \omega} = \frac{1}{\sin \omega} + \frac{\sin \omega}{\sin \omega} = \frac{1}{\sin \omega} + 1 = \frac{1}{\sin \omega} + \frac{\cos \omega}{\cos \omega} = \frac{1 + \cos \omega}{\sin \omega \cos \omega} = \frac{2 \cos^2 \frac{\omega}{2}}{2 \sin \frac{\omega}{2} \cos \frac{\omega}{2}} = \frac{\cos \frac{\omega}{2}}{\sin \frac{\omega}{2}} = \cot \frac{\omega}{2}$$

$$\sin \omega + \sin 1 = \frac{r \sin \omega}{r} + \frac{r \sin 1}{r} = \frac{r (\sin \omega + \sin 1)}{r} = \frac{r \cos \frac{\omega+1}{2} \cdot 2 \sin \frac{\omega-1}{2}}{r} = 2 \sin \frac{\omega-1}{2} \cos \frac{\omega+1}{2}$$

$$1 - \tan^2 \frac{\omega}{2} = \frac{1 - \tan^2 \frac{\omega}{2}}{1 + \tan^2 \frac{\omega}{2}} = \frac{\cos^2 \frac{\omega}{2} - \sin^2 \frac{\omega}{2}}{\cos^2 \frac{\omega}{2} + \sin^2 \frac{\omega}{2}} = \frac{\cos \omega}{1} = \cos \omega$$

$$\sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r \rightarrow \sin \alpha + \cos \alpha = r$$

$$\sin \alpha \sin \beta = \frac{1}{2} (\cos(\alpha - \beta) - \cos(\alpha + \beta)) \rightarrow \sin \alpha \sin \beta = \frac{1}{2} (\cos(\alpha - \beta) - \cos(\alpha + \beta))$$